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QUESTION 1

A Service Provider is using VMware vCloud Director with VMware vCloud Networking and Security (VCNS) on vSphere.
Which two products will be impacted by the upgrade of VCNS to VMware NSX? (Choose two.)

A. ESXi hosts

B. NSX Controller Cluster
C. vShield Manager

D. vCenter Server

Correct Answer: AC

QUESTION 2

In a vSphere Distributed Switch architecture, which plane handles packet switching?
A. Data Plane

B. Forwarding Plane

C. Management Plane

D. Control Plane

Correct Answer: A

QUESTION 3

Which is a prerequisite for deploying an Edge Service Gateway?
A. Firewall Default Policy

B. An interface

C. Default Gateway

D. High Availability

Correct Answer: B

QUESTION 4

When specifying a source for a security rule, what is the purpose of the Negate Source check box?
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A. If Negate Source is selected, the rule is sent to only the objects identified under object type.

B. If Negate Source is selected, the rule is applied to traffic coming from all sources except for the source identified
under the object type.

C. If Negate Source is not selected, the rule is applied to traffic coming from all sources except for the source identified
under the object type.

D. if Negate Source is not selected, the rule is sent to only the objects identified under the object type.

Correct Answer: B

QUESTION 5

Which action is not an option for adding Virtual Machines to a Security Group?

A. Adding Virtual Machines to a Security Group and nesting it within another Security Group.
B. Defining Dynamic Membership in the Security Group.

C. Adding Virtual Machines to a Security Policy and associating it with a Security Group.

D. Selecting objects to include within a Security Group.

Correct Answer: C
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